
{

{

{

°

¢

{

{

°

¢

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137

q = 135,000137

Drum

Guitare

Basse

Aahs

Piano

Crystal

6

2

4

4

4

2

4

4

4

2

4

4

4

2

4

4

4

2

4

4

4

2

4

4

4

2

4

4

4

2

4

4

4

2

4

4

4

&
∑ ∑ ∑ ∑ ∑

Cranberries - Uncertain

/

&
∑

#

#
#

3

#

?
∑

&
∑ ∑ ∑ ∑ ∑

&
∑

&
∑ ∑ ∑ ∑ ∑

&
∑

B ∑ ∑ ∑ ∑ ∑

/

&
3

#

.

.

?

&

&

&

Œ ‰ ≈

¿œ

œ

r

œ

œ¿ ¿ ¿ ¿ ¿ ¿

¿ ¿ ¿ ¿

¿ ¿ ¿ ¿ ¿ œ¿ ¿

¿ ¿ ¿ ¿

œ¿ ¿ ¿ ¿ ¿ ¿

¿ ¿ ¿ ¿

¿ ¿ ¿ ¿ ¿ ¿ ¿

¿ ¿ ¿ ¿

œ¿ ¿ ¿ ¿ ¿ ¿

¿ ¿ ¿ ¿

¿ ¿ ¿ ¿ ¿ œ¿ ¿

¿ ¿ ¿ ¿

œ¿ ¿ ¿ ¿ ¿ ¿

¿ ¿ ¿ ¿

¿ ¿ ¿

¿ ¿ ¿ ¿

¿ ¿ œ¿ ¿

w
w
w

w w
w

œ
œ

j

œ ˙ ™ w
w
w

œ
œ
œ ™ ˙ ™ w

w

w

˙ ™ œ œ
w ˙ ™ œ œ w

w
w w w

w

w

#

#
w

w

w w

œ¿ ¿ ¿ ¿ ¿ ¿

¿ ¿ ¿ ¿

¿ ¿ ¿ ¿ ¿ œ¿ ¿

¿ ¿ ¿ ¿

œ¿ ¿ ¿ ¿ ¿ ¿

¿ ¿ ¿ ¿

¿ ¿ ¿ ¿ ¿ œ¿ ¿

¿ ¿ ¿ ¿

œ¿ ¿ ¿ ¿ ¿ ¿

¿ ¿ ¿ ¿

¿ ¿ ¿ ¿ ¿ œ¿ ¿

¿ ¿ ¿ ¿

œ¿ ¿ ¿ ¿ ¿ ¿

¿ ¿ ¿ ¿

œœ1

¿ ¿

œœ1

¿

¿ ¿ ¿ ¿

¿ ¿

œœ1

¿ ¿

w
w
w

w
w
w

œ
œ

j

œ
œ

˙
˙
™
™

w
w

œ
œ

œ ™ ˙ ™
œ

R

≈ ‰ Œ
œ

œ
œ
# ™

™
˙
˙
™
™

Ó

˙ ™ œ œ w

˙ ™ œ œ œ ™ œ

j

œ
œ#

˙ œ œ# ˙ ˙#
˙ œ œ# œ ™ œ#

J

˙

w
w w

w

w

w

w

w
w

œ ™ œ#

J

œ
œ

=

Downloaded from MusicNotesLib.com Perfect notes and guitar tabs searcher

http://musicnoteslib.com/
user
Машинописный текст

user
Машинописный текст

user
Машинописный текст

user
Машинописный текст



{

{

°

¢

{

{

{

°

¢

Dolores

Drum

Guitare

Basse

Aahs

Dolores 2

Crystal

Strings

10

Dolores

Drum

Guitare

Basse

Piano

Dolores 2

Crystal

Strings

13

&

/

&
<#>
#

#

?

&
∑ ∑

&

&
∑ ∑

B

&

.

/

&
#

3

?

&
∑

&
.

&
∑

B

˙# œ œ œ œ œ ™ œ

j

œ

j

œ
œ

j

œ ™ œ

j

œ œ# œ œ

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w
w
w

œ
œ

r

≈
‰ Œ Ó

w
w

≈
œ
œ
# ™

™
j

˙
˙
™
™

w
w
w

w

œ ™ œ

J

œ

J

œ œ

J
œ ™ œ

j

œ

j

œ œ

j

œ ™ œ

j

œ

j

œ œ

j

w

˙# œ œ œ œ œ ™ œ

J

œ

J

œ
œ

J

œ ™ œ

j

œ œ# œ œ

w

w
w
w

# w
w
w
#

w
w
w

œ<#> ™
œ

j

œ

j

œ# œ

j

˙ œ
œ œ

œ# œ œ
œ# œ

j

œ

œ

j

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿

œ

œ¿

œ

œœ¿

œ

œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w
w

w
w
w
w

w
w
w

œ
œ

j

œ
œ

˙
˙
™
™

œ ™ œ

j

œ

j

œ œ

j œ ™ œ

J

œ

J

œ œ

J

œ ™ œ

J

œ

J

œ œ

J

w

w
w

w

œ<#> ™
œ

j

œ

j

œ# œ

j

˙ œ
œ œ

œ# œ œ
œ# œ

J

œ

œ

j

w

w

w
w
w
#

w
w
w

w
w
w

=

2

Downloaded from MusicNotesLib.com Perfect notes and guitar tabs searcher

http://musicnoteslib.com/
user
Машинописный текст

user
Машинописный текст

user
Машинописный текст

user
Машинописный текст



{

{

{

°

¢

{

°

¢

Dolores

Drum

Guitare

Basse

Piano

Dolores 2

Crystal

Strings

16

Dolores

Drum

Guitare

Basse

Dolores 2

Strings

19

&

/

&
#

3

#

#

?

&
∑ ∑

&

&
∑ ∑

B

&

/

&

<#>
#

?

&

B

œ ™

‰ Ó
œ#

j

œ œ

j

œ

j

œ ™ œ# ™ œ

j

œ œ œ œ

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œœ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿

œ

¿ ¿

œ

œ¿ œ¿

œœ1
œœ¿ œ¿

¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w
w

œ
œ

j

œ ˙ ™ w
w
w
w

œ œ
œ ™
™

˙
˙ ™
™

œ
œ
œœ

œ
œœ ™
™
™ ˙

˙̇
™
™
™

œ

j

œ œ

j

œ

j

œ œ

j

œ

j

œ œ

j

œ

j

œ œ

j
œ ™ œ

J

œ

J

œ œ

J

w

w

œ ™ ‰ Ó

œ#

J

œ œ

J

œ

J

œ ™ œ# ™
œ

J

œ œ œ œ

w

w
w
w
#

w
w
w

w
w
w

#

œ ™ œ

j

œ

j

œ
œ

j

œ ™ œ

j

œ œ# œ œ œ ™
œ

j

œ

j

œ# œ

j

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿

œ

œ¿

œ

œœ¿

œ

œ¿

w
w

œ
œ

œ
œ
# ™

™
˙
˙
™
™

w
w
w

w

w
w
w

w

œ ™ œ

j

œ

j

œ œ

j

œ ™ œ

j

œ

j

œ œ

j

œ ™ œ

j

œ

j

œ œ

j

œ ™ œ

J

œ

J

œ
œ

J

œ ™ œ

j

œ œ# œ œ œ ™
œ

j

œ

j

œ# œ

j

w
w
w
#

w
w
w w

w
w
#

=

3

Downloaded from MusicNotesLib.com Perfect notes and guitar tabs searcher

http://musicnoteslib.com/
user
Машинописный текст

user
Машинописный текст

user
Машинописный текст

user
Машинописный текст



{

{

{

°

¢

{

°

¢

{

°

¢

Dolores

Drum

Guitare

Basse

Piano

Dolores 2

Crystal

Strings

22

Dolores

Drum

Guitare

Basse

Dolores 2

Strings

25

Dolores

Drum

Guitare

Basse

Dolores 2

Strings

q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137

28

q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137

&

.

/

&

3

#

3

?

&

&
.

&

B

&

/

&
<#>

#

?

&

B

&

/

&
#

?

&

B

˙ œ
œ œ

œ# œ œ
œ# œ

j

œ

œ

j

œ ™

‰ Ó

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œœ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w
w

w
w
w

œ
œ

j

œ
œ

˙
˙
™
™

w
w
w

œ
œ

j

œ ˙ ™

œ ™ œ

J

œ

J

œ œ

J

œ ™ œ

J

œ

J

œ œ

J œ

j

œ œ

j

œ

j

œ œ

j

w

w

w

w

w

w

˙ œ
œ œ

œ# œ œ
œ# œ

J

œ

œ

j

œ ™ ‰ Ó

w
w w

w
w
w

w
w
w w

w
w
#

œ

j

œ œ#

j

œ œ œ
œ œ ™

j ≈ ‰

œ

j

œ œ œ œ# œ ™ œ

j

œ

j

œ# ™

œ¿ œ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿

œ

¿ ¿

œ

œ¿ œ¿

œœ1
œœ¿ œ¿

¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w
w
w

w
w

œ œ
œ# ™
™

˙
˙ ™
™

w
w

œ
œ

œ
œ
# ™

™
˙
˙
™
™

œ

j

œ œ

j

œ

j

œ œ

j
œ ™ œ

J

œ

J

œ œ

J
œ ™ œ

j

œ

j

œ œ

j

œ

j

œ œ#

J

œ œ œ
œ

œ

œ

# ™

™
j

≈ ‰
œ

œ

j

œ

œ

œ

œ

œ

œ
œ
œ# œ

œ ™
™ œ

œ

J

œ

œ

J
œ

œ#

# ™
™

w
w
w

<#>
w
w
w

# w
w
w
#

œ ™ œ

j

œ œ# œ œ œ ™ œ

j

œ œ œ œ#
˙ ™ œ œ

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿

œ

œ¿

œ

œœ¿

œ

œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w
w

w

w
w
w

w
w
w
w

w

œ ™ œ

j

œ

j

œ œ

j

œ ™ œ

j

œ

j

œ œ

j œ ™ œ

J

œ

J

œ œ

J

œ

œ
™
™

œ

œ

j

œ

œ
œ

œ#

# œ

œ
œ
œ œ

œ ™
™ œ

œ

J

œ
œ

œ
œ

œ
œ

œ
œ
#

˙
˙ ™
™

œ
œ

œ
œ

w
w
w w

w
w
#

w
w
w

=

=

4

Downloaded from MusicNotesLib.com Perfect notes and guitar tabs searcher

http://musicnoteslib.com/
user
Машинописный текст

user
Машинописный текст

user
Машинописный текст

user
Машинописный текст



{

{

{

°

¢

{

{

{

°

¢

Dolores

Drum

Guitare

Basse

Piano

Dolores 2

Crystal

Strings

q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

31

q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137 q = 135,000137 q = 135,000137

34

q = 135,000137 q = 135,000137 q = 135,000137

&
∑

/

&

3

#

3

?

&
∑

&
∑

&
∑

B

&

/

& #

?

&

&

&

&

B
#

œ

j

œ œ

j

œ

j
œ

œ

j

œ ™

‰ Ó

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œœ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

œœ1

œ¿ œ œ¿ œ¿

œ

¿ ¿

œ

¿ ¿

œ

œ¿

œ

œ¿

œ

œ¿

œ

œ¿

w
w

œ
œ

j

œ
œ

˙
˙
™
™

w
w
w

œ
œ

j

œ ˙ ™ w
w
w
w

œ ™ œ

J

œ

J

œ œ

J œ

j

œ œ

j

œ

j

œ œ

j

œ

j

œ œ

j

œ

j

œ œ

j

˙

˙

™

™

œ

œ

œ

œ

w

w

œ
œ

j

œ
œ
# œ

œ

j

œ
œ

j
œ
œ

œ
œ

j

œ
œ
™
™ ‰ Ó

˙ ™ œ œ w

w
w
w w

w
w
#

w
w
w

w w
w

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w

œ œ
œ# ™
™

˙
˙ ™
™

w
w
w

w
w
w

œ
œ
œ
œ ™
™

˙
˙ ™
™

˙ ™ œ œ ˙ ™ œ œ
˙ ™ œ œ

w# w
w

w
w

w

w w
w

w
w# w

w w
w

w

w

w
w

w
w
w

w

w
w
w

w

=

5

Downloaded from MusicNotesLib.com Perfect notes and guitar tabs searcher

http://musicnoteslib.com/
user
Машинописный текст

user
Машинописный текст

user
Машинописный текст

user
Машинописный текст



{

{

{

°

¢

{

{

{

°

¢

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137

37

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137 q = 135,000137

40

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137 q = 135,000137

&

/

&

#

#

?

&

&

&

&

B
#

&

/

&

#

#

?

&

&

&

&

B
#

œ

j

œ# œ

j

œ œ œ œ
w w

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿

¿ ¿ ¿ ¿

œ¿ œ¿

œœ1

œ¿ œ¿ œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

œ

¿¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿

œ

œ¿

œ

œ¿

w
w

œ
œ
œ
œ
™
™

˙
˙
™
™

w
w
w

w w
w
w

w

œ ™ œ

j

œ ™ œ œ œ
˙ ™ œ œ ˙ ™ œ œ

œ ™ œ

J

˙
w# w

w

w
w

œ

œ

J

œ

œ

#

# œ

œ

j

œ

œ

œ

œ

œ

œ

œ

œ

w w

w
w

w
w# w

w

w
w
w w

w

w
w

w
w
w

w

˙ ™ œ œ œ

j

œ#
œ

j

œ
œ œ œ

w

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œœ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ œœ¿ œ¿ œ¿ œ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿ œ¿ œ¿

œœ1

œ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w

œ
œ
œ
œ ™
™

˙
˙ ™
™

w
w

œ
œ
œ
œ
™
™

˙
˙
™
™

w
w
w

w

˙ ™ œ œ œ ™ œ

j

œ ™ œ œ œ
˙ ™ œ œ

w œ ™ œ

J

˙
w#

w w

w

˙ ™ œ œ

œ

œ

œ

J

œ

œ

#

#

œ

œ

J

œ

œ

œ

œ

œ

œ

œ

œ

w

w
w

w
w

w
w#

w
w
w

w

w
w
w w

w

w
w

=

6

Downloaded from MusicNotesLib.com Perfect notes and guitar tabs searcher

http://musicnoteslib.com/
user
Машинописный текст

user
Машинописный текст

user
Машинописный текст

user
Машинописный текст



{

{

{

°

¢

{

{

{

°

¢

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137

43

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137

Dolores

Drum

Guitare

Basse

Piano

Dolores 2

Crystal

Strings

q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

46

q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

&

/

&

?

&

&

&

&

B

&

/

&

#

#

?

&
∑

?
∑ ∑

&

&

B

w
˙ ™ œ œ œ

j

œ# œ

j

œ
œ# ™

≈ ‰

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ œ¿ œ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿

œ

¿ ¿

œ

¿ ¿

œ¿ œ¿

œœ1

œ¿ œ¿

w
w
w

w
w
w

œ
œ
œ
œ ™
™

˙
˙ ™
™

w
w

œ
œ
œ
œ
™
™

˙
˙
™
™

˙ ™ œ œ
˙ ™ œ œ œ ™ œ

j

œ ™ œ œ œ

w
w œ ™ œ

J

˙

w
w w

w
˙ ™ œ œ

œ

œ

œ

J

œ

œ

#

# œ

œ

j

œ

œ

œ

œ#

# ™

™ ≈ ‰

w
w w

w
w
w

w
w
w

w

w
w
w

w

w
w
w

˙# œ œ œ œ œ ™ œ

j

œ

j

œ
œ

j

œ ™ œ

j

œ œ# œ œ

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w
w

w
w
w

œ
œ

œ
œ
# ™

™
˙
˙
™
™

w
w
w

w

œ ™ œ

J

œ

J

œ œ

J
œ ™ œ

j

œ

j

œ œ

j

œ ™ œ

j

œ

j

œ œ

j

w

w

w

w

w

w#

#

˙# œ œ œ œ œ ™ œ

J

œ

J

œ
œ

J

œ ™ œ

j

œ œ# œ œ

w#
w w

w
w
w

# w
w
w
#

w
w
w

=

7

Downloaded from MusicNotesLib.com Perfect notes and guitar tabs searcher

http://musicnoteslib.com/
user
Машинописный текст

user
Машинописный текст

user
Машинописный текст

user
Машинописный текст



{

{

{

°

¢

{

{

{

°

¢

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137 q = 135,000137q = 135,000137q = 135,000137

49

q = 135,000137 q = 135,000137q = 135,000137q = 135,000137

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

52

&

.

/

&
#

3

?

&
∑

&
∑

?
∑ ∑

&
.

&

B

&

/

&
#

3

#

?

&
∑

&
∑

&

&

B

œ<#> ™
œ

j

œ

j

œ# œ

j

˙ œ
œ œ

œ# œ œ
œ# œ

j

œ

œ

j

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿

œ

œ¿

œ

œœ¿

œ

œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w
w

w
w
w
w

w
w
w

œ
œ

j

œ
œ

˙
˙
™
™

œ ™ œ

j

œ

j

œ œ

j œ ™ œ

J

œ

J

œ œ

J

œ ™ œ

J

œ

J

œ œ

J

˙ œ œ# ˙ ˙#

w

w

w

w

w

w

œ<#> ™
œ

j

œ

j

œ# œ

j

˙ œ
œ œ

œ# œ œ
œ# œ

J

œ

œ

j

w

w
w

w
w
w
#

w
w
w

w
w
w

œ ™

‰ Ó
œ#

j

œ œ

j

œ

j

œ ™ ˙# œ œ œ œ

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œœ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

œœ1

œ¿ œ œ¿ œ¿

œ

¿ ¿

œ œ

œ¿

œ

œ¿

œ

œ¿

œ

œ¿

¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w
w

œ
œ

j

œ ˙ ™ w
w
w
w

w
w

œ œ
œ# ™
™

˙
˙ ™
™

œ

j

œ œ

j

œ

j

œ œ

j

œ

j

œ œ

j

œ

j

œ œ

j
œ ™ œ

J

œ

J

œ œ

J

˙ œ œ# œ ™ œ#

J

˙

w

w

w

w

œ ™ ‰ Ó

œ#

J

œ œ

J

œ

J

œ ™ ˙# œ œ œ œ

w w
w

w
w
w
#

w
w
w

w
w
w

#

=

8

Downloaded from MusicNotesLib.com Perfect notes and guitar tabs searcher

http://musicnoteslib.com/
user
Машинописный текст

user
Машинописный текст

user
Машинописный текст

user
Машинописный текст



{

°

¢

{

{

{

°

¢

Dolores

Drum

Guitare

Basse

Dolores 2

Strings

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137

55

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

58

q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

&

/

&

<#>
#

?

&

B

&

.

/

&

3

#

3

?

&

&
∑ ∑

&
.

&
∑ ∑

B

œ ™ œ

j

œ

j

œ
œ

j

œ ™ œ

j

œ œ# œ œ œ ™
œ

j

œ

j

œ# œ

j

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w

œ
œ

œ
œ
# ™

™
˙
˙
™
™

w
w
w

w

w
w
w

w

œ ™ œ

j

œ

j

œ œ

j

œ ™ œ

j

œ

j

œ œ

j

œ ™ œ

j

œ

j

œ œ

j

œ ™ œ

J

œ

J

œ
œ

J

œ ™ œ

j

œ œ# œ œ œ ™
œ

j

œ

j

œ# œ

j

w
w
w
#

w
w
w w

w
w
#

˙ œ
œ œ

œ# œ œ
œ# œ

j

œ

œ

j

œ ™

‰ Ó

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œœ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w
w

w
w
w

œ
œ

j

œ
œ

˙
˙
™
™

w
w
w

œ
œ

j

œ ˙ ™

œ ™ œ

J

œ

J

œ œ

J

œ ™ œ

J

œ

J

œ œ

J œ

j

œ œ

j

œ

j

œ œ

j

˙ œ œ# ˙ ˙#
˙ œ œ#

w

w

˙ œ
œ œ

œ# œ œ
œ# œ

J

œ

œ

j

œ ™ ‰ Ó

w

w
w
w

w
w
w w

w
w
#

=

9

Downloaded from MusicNotesLib.com Perfect notes and guitar tabs searcher

http://musicnoteslib.com/
user
Машинописный текст

user
Машинописный текст

user
Машинописный текст

user
Машинописный текст



{

{

{

°

¢

{

{

{

°

¢

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137 q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

61

q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137 q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137

64

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137

&
∑

/

&
<#>

#

?

&

&

&
∑

&

B
#

&

/

&

#

#

?

&

&

&

&

B
#

w w

œ¿ œ œœ¿ œ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

œ

œ¿

œ

œ¿

œ

œ¿

œ

œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œ¿ œ¿

w
w
w
w

w
w

œ œ
œ# ™
™

˙
˙ ™
™

w
w
w

w

œ

j

œ œ

j

œ

j

œ œ

j

˙ ™ œ œ ˙ ™ œ œ

œ ™ œ#

J

˙ w# w

w

w w
w

w w

w

w
w# w

w

w
w
w

<#>
w

w

w
w

w
w
w

w

w œ

j

œ# œ

j

œ œ œ œ
w

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿

¿ ¿ ¿ ¿

œ¿ œ¿

œœ1

œ¿ œ¿ œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

œ

¿¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ¿ œœ¿ œ¿

w
w

œ
œ
œ
œ ™
™

˙
˙ ™
™

w
w

œ
œ
œ
œ
™
™

˙
˙
™
™

w
w
w

w

˙ ™ œ œ œ ™ œ

j

œ ™ œ œ œ
˙ ™ œ œ

w œ ™ œ

J

˙
w#

w w

w

w œ

œ

J

œ

œ

#

# œ

œ

j

œ

œ

œ

œ

œ

œ

œ

œ

w

w
w

w
w

w
w#

w
w
w

w

w
w
w w

w

w
w

=

10

Downloaded from MusicNotesLib.com Perfect notes and guitar tabs searcher

http://musicnoteslib.com/
user
Машинописный текст

user
Машинописный текст

user
Машинописный текст

user
Машинописный текст



{

{

{

°

¢

{

{

{

°

¢

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

67

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

Dolores

Drum

Guitare

Basse

Aahs

Piano

Dolores 2

Crystal

Strings

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

70

q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137 q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137q = 135,000137

&

/

&

?

&

&

&

&

B

&

. . . .

/

&

#

#

#

#

?

&

&
∑

?
∑ ∑ ∑ ∑ ∑

&

. . .

.

&

B

w
˙ ™ œ œ œ

j

œ#
œ

j

œ
œ œ œ

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿ œ¿ œ¿ œ¿

œ

œ¿

œ

œ¿

¿ ¿ ¿ ¿

œœ¿ œ œ¿ œ¿ œ¿ œ œ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œœ¿ œ¿ œ¿ œ¿ œœ¿ œ¿

¿ ¿ ¿ ¿

œ¿ œ œœ¿ œ¿ œ¿ œ œœ¿ œ¿

¿ ¿ ¿ ¿

œœ1

œ¿ œ œ¿

œœ1

œ¿

¿ ¿ ¿ ¿

œ¿ œ¿

œœ1

œ¿ œ¿

w
w
w

w
w
w

œ
œ
œ
œ ™
™

˙
˙ ™
™

w
w

œ
œ
œ
œ
™
™

˙
˙
™
™

˙ ™ œ œ
˙ ™ œ œ œ ™ œ

j

œ ™ œ œ œ

w
w œ ™ œ

J

˙

w
w w

w
˙ ™ œ œ

œ

œ

œ

J

œ

œ

#

#

œ

œ

J

œ

œ

œ

œ

œ

œ

œ

œ

w
w w

w
w
w

w
w
w

w

w
w
w

w

w
w
w

˙ œ œ# œ œ ˙ œ œ# œ œ œ ™

‰ Ó

œ

j

œ# œ

j

œ œ
œ œ ˙ œ œ# œ œ ˙ œ œ

œ#
# œ

œ
œ
œ

Ẏ
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